H & 0l & AHS B Ml A

el XM |4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SR HENI] 52,378,840 18,392,005 33,966,835
2 3,898,000
z 10,000,000
p 7,900,000
= 30,585,840
Nl Mg 9 DEs) 3,543,600 1,862,565 1,681,035
MK A AY S 3,543,600 1,862,565 1,681,035
ESS EXIAIAE DS OHFA &3 JIEX AL 400,000 400,000 0
306 2012 400,000 400,000 0
01 2012 400,000 400,000 0
OESS HIIAIAE IS orEA &3 IS (
ELTP) 400,000
B (UXMY 28 245 Y N 420,000 600,000 180,000
306 £013 420,000 600,000 180,000
01 2012 420,000 600,000 180,000
OBY UK ATHEE Bak3H AN
ENLC! 420,000
M4 |4 X2 383,600 52,565 331,085
203 Y2 EZH| 3,600 2,565 1,085
08 Al ERI 2 =AY 3,600 2,565 1,085
O0flA X YPEz 3,600
308 XiXIEHHISOI & 380,000 0 380,000
13 DI ZSUHSHI A RIS AI L] 380,000 0 380,000
O0flHX s 80,000
OB AZHIM HUES 300,000
@)ng HIUHEIZ] THAFS &3t DIetn=(201REX 1,950,000 150,000 1,800,000
=
306 2012 1,950,000 150,000 1,800,000
01 243 1,950,000 150,000 1,800,000
OFIIZHS HIBEIZ] HAIS ari3t D120
= 150,000
FOIXHE HIHHEIR] THAFS ArISH J|BH
= 1,800,000
S OIXTA J|2AS L BIXE SHE 7&(2 390,000 260,000 130,000
IIEER)
306 2042 390,000 260,000 130,000
01 2012 390,000 260,000 130,000
OZEA OIXAX Jls4E FIXE 22
= o= 390,000
ORI Aloke) Stk 22,880,000 4,380,000 18,500,000
z 10,000,000
pJ 7,900,000
= 4,980,000
IR Alared SHaF DBt 22,880,000 4,380,000 18,500,000




A BASEIM Y

o QLK Al Star
Rl ORIl Alare Ehak J|gts EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 10,000,000
Jl 7,900,000
= 4,980,000
FAFHA 2 A2AMY 610,000 630,000 /20,000
306 E¢= 510,000 530,000 220,000
01 £g= 510,000 530,000 220,000
OUE =A58A 2EIE At 510,000
308 XXM SOIA 100,000 100,000
01 XN B2 LS 100,000 100,000
O2INg =A58L 2N 100,000
=AY J[BIREF(SIHEEXI) 290,000 830,000 £540,000
306 E¢= 290,000 830,000 A540,000
01 2d= 290,000 830,000 540,000
Od@l$4 Ma 35| 25 HLX2 23
= 715 290,000
AT Al ZEAMG 13,000,000 2,600,000 10,400,000
[ 10,000,000
= 3,000,000
403 TR SHMSAH=01H 13,000,000 2,600,000 10,400,000
s 10,000,000
s 3,000,000
01 AXISHHA =2 £ 13,000,000 2,600,000 10,400,000
OFaEAl ZEAME 13,000,000
= 10,000,000
[ 3,000,000
BIOIQOtA 2E T E A HAAE XA 8,980,000 0 8,980,000
Il 7,900,000
= 1,080,000
403 AXIEHHSAH=201H 8,980,000 0 8,980,000
Jl 7,900,000
= 1,080,000
01 AXISHHA=2E XL 8,980,000 0 8,980,000
OBI0I20tA 28 FE 44 YUtAE £X 8,980,000
Il 7,900,000
== 1,080,000
HUX A E S & A2 4,828,000 0 4,828,000
= 3,893,000
= 935,000
O X X+ 2t 4,828,000 0 4,828,000
= 3,893,000
== 935,000
ST LPeHi 2 A= 4,828,000 0 4,828,000
= 3,893,000




A BASEIM Y
U Xagsd & A2l

el OIUXl T 2l EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
< 935,000
403 AXIEHMSA=01d 4,828,000 0 4,828,000
= 3,893,000
= 935,000
01 XIS EE 4,828,000 0 4,828,000
OS2 LPGHI 2t &X 4,828,000
= 3,893,000
= 935,000
HRes(EAEE8EENL) 21,060,000 12,085,000 8,975,000
HWEHAHXE(EASSHZ D) 21,060,000 12,085,000 8,975,000
U XaY S4 20,310,000 11,335,000 8,975,000
701 JIEHRIHISEES 20,310,000 11,335,000 8,975,000
01 JIEteI A ES 20,310,000 11,335,000 8,975,000
OSEXA NG AEAN S8 HE= 20,310,000
Zo2E ME DIz M&E3 750,000 750,000
RISHES 750,000 750,000
(UI=rSE=r=) 750,000 750,000
HoZ2R2 HE Jl=s dE= 750,000
Y2 AAY(EAZSEZ M) 67,240 64,440 2,800
Jl2ZH(SASEZ ML) 67,240 64,440 2,800
JI23H(EASEZH D) 67,240 64,440 2,800
201 =3 32,000 30,600 1,400
01 AtR2telt] 32,000 30,600 1,400
OB2~SEZ N 20 g2=d 32,000
202 04| 32,000 30,600 1,400
01 =LHA I 32,000 30,600 1,400
OBASEHEN =0F 2= 32,000
203 gR=8| 3,240 3,240
04 REXNSLYRFAH 3,240 3,240
OBAZEI N 20 g2=8 3,240




